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1. IR TS TSTATT TifdaoT fohg FaTerg
F 3T FT Far g2

A. aiftrsy 3R 3T #TeT

B. @s% uRkdegst 3R ISR #AAeT

C. [ag #FdaTe T

D. TR, gef AR STeary IRader #ares

2. [OSGR WA % Hefdl JsEe
TUYAT fohaet 1?2

A. RFAFgT

B. #k@T I

C. HsUIed I

D. &ar I
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8. AU gH ITWY & Sl silc W fha T
TARS W Hfed fohar amr g2

A. gFdt HfeT

B. oreT fehell

C. |l &1 &9

D. &l g AfeY

9. T H TEH WRT AGRINER hiel AT 72
A. 3cdifcsh HEMENR

B. Telid HAGRIPR

C. fgeg AGEANR

D. 3hiceh FAFTAPR

Select the most appropriate meaning of the
underlined idiom in the given sentence.
10. Our PM is received with open arms
wherever he goes.

A. Honourably

B. Promptly

C. Warmly

D. Harmoniously

Select the most appropriate meaning of the
underlined idiom in the given sentence.
11. Mrs. Arora has got the green light from
the principal to organise a science
conference in the college.

A. Got permission to go ahead with
something
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B. Got energy and motivation to do
something

C. Got fired for doing something

D. Got the work started

In the following question, the given
sentence has four parts marked P, Q, R
and S. Choose the part of sentence with
the error and mark as your answer. If there
is no error, mark ‘No error (S)" as your
answer.

12. The behaviour of resident spiders (P)/
towards pirate spiders and their own prey
(Q)/ are quite different. (R)/ No error (S)
A P

B. Q

C.R

D. S

Choose the correct antonym of the given
word from the options given below.

13. INUNDATION

A. Flood

B. Torrent

C. Tide

D. Drought

Select the most appropriate option to
substitute the underlined segment in the
given sentence. If there is no need to
substitute it, select 'No substitution’.

14. | think you and me owe him an
explanation.

A. You and |

B. No substitution

C. You and mine

D. Your and |

o
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Select the most appropriate option to fill in
the blank.

15. Many dermatologists

products which have hyaluronic acid as it
helps relieve dryness of the skin.

A. blend

B. extend

C. recommend

D. tend

Given below are four jumbled sentences.
Pick the option that gives their correct
order.

16. P: Lead author Margareta Hakanson
said that the main reason seems to be “that
the movements transferred from the horse’s
body to the rider are very like the body
movements made by a person walking.”
Q: Riding on horseback not only eases
back pain, but also boosts the riders
confidence and emotional well being,
according to a new study.

R: These findings contribute to the growing
body of evidence that horseback riding and
related equine assistance therapy programs
for disabled and injured individuals benefit
human participants.

S: There are no excessive movements, but
a continuous bilateral influence on postural
balance that enhances balance reactions
and the fine movements in the rider’s trunk
A. RSQP

B. QRPS

C. PQRS

D. RPSQ

Choose the most appropriate option to
change the narration (direct/indirect) of the
given sentence.
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17. He asked me that if he could have my
pen. | answered in the affirmative.

A. He said to me, “If | could have your
pen?” | said “Yes.”

B. He asked me, “Could | have your pen?”
| answered in the affirmative.

C. He asked me, “If he could have my
pen? | answered in the affirmative.”

D. He said to me, “Can | have your pen?”
| said, “Yes.”

Direction: Select the word which means the
same as the group of words given.

18. touching along the side or boundary
A. harmonious

B. inconspicuous

C. unpretentious

D. contiguous

Direction: Find a word that is the
ANTONYM OF

19. PIQUANT

A. peppery

B. pungent

C. bland

D. interesting

20. 9 TEaw3t & daa 23 g1 I 9 e
H gl & 2 ST AT g, dr &2 3iad F#4ar
grm?
A. 27
B. 24
C. 23
D. 25

21. TF @5H Y 3R RN A gL, FASA o
wel, “H 3HG B W5 § faared g S ges
H T|ar g7, O ®AA 39 d5H d R 9K
gafaa g2

A. BFeT-ga-ar

$
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B. T

C. § g
D. 37

22. fArafaf@d Sl &1 eareqdes Hea
FL dUT i T 31T g9 &1 3ccR <
‘A+B HITEABHIIY
‘A-B & 3T ¢ A BH g &
‘AxB & AT g A BFH T ¢

- B & 3§ A B F S
‘A=B & 3T g ‘A B & ar ¢
+D + G FT FaT 37T §?

G, C#r3ec g

C, G & #rcdieh &

D

G

X

>
|

, G & HIS §
, D & 98T §

23. Th H@eT o UG & @Y & 75 gl fov
T et & & W@ ReT T S wer A
quT T |

Swim, Swam, ?, Swimming, Swims

A. Swimmed

B. Swimt

C. Swimm

D. Swimmen

24, AFTAf@d el # @ 9§ Ase AT S
fGT 1T e/eg & 3&RT & YIWRT & FrT S
Fahal 872

A. ACTOR

B. MANOR

C. CHAMP

D. MANIA

25. @& W Reedt # ¥ wwfa
RIS/ 3ETI/TEAT & AT |

DCBA : WXYS :: IJKL : ?

A. SRQP

B. QPON
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C. RQPO
D. PONM

26. &Y Fgar & 9fad #AE dd 16,200 gl I&
& Ugdl HEA H, 98 37U 3T FT 50% ST
TR, 40% FIST W TJ FT ¢ 3R ST 98 @I
FAT & 3T 11.11% FIATAT §1 79Tk & FSIAT
#H, 387 S @9 R §, 399 9.09% Fr sad
HAT § (HISTT W AY=AT 3T HT1 57.33% @) |
qMY AR A, IHF daT A 11.11% & gefr
il § 3R 3@ 3raey # gt # aF | g
T FT ST gl JAfFT ud FES ¥ 3HAT
THST AT § 3R g8 i A 39 A5 I
T 12.5%, 10%, 20%, 15%, 15%, 8.33%,
20% 3R 12.5% «arar g1 e 3’f¥s J9d
arel & AT i sad & ad 3R TS FA
S dTet &1 HEIAT T Tl & G T 3T
FIT gEm?

A. 2.67

B. 5.33

C. 3.33

D. $7H & FI$ e

27. U Bl Tashdl Ui & ATG H IR F Fel
Gl & AR 3eg GeIT Hed W 3l gehred
# Jgar §1 98 FEA H dhaa 30 At & faw
39T geplel GiefdT &1 @8 100 & I[UTST & Bel
Tledr § 3R 3¢ st & IS A ST gl
ag 85 T9¥ gfa desT & eae & e @lgar
g 3R 18 ¥ ufd goied & S9ar §, 380 T
gfd dFsT W T e ¢ AR 76 304
gfa gl F S9ar § 31k 360 Tu gfa dAspar
& feare @ el @ledr & 3R 72 39 i

$

gradeup

goled ® 99T &1 3AH ¥ FF-¥ T v 39
Jifwas gfaera amer & €2

A. Fer

B. IFTsRY

C. @l

D. B 3R C g=i

28. ar HEAIAT H AT 75 § 3R 3
3TRIATOIATT HATET 3oloh SANAIT AT T 25%
3R & F&ar ad fIfev|

A. 50, 25

B. 60, 15

C. 65, 10

D. 40, 35

29. fArafof@a & @ sia-ar v qof & 82
A. 1,04,976

B. 3,25,137

C. 2,93,729

D. 3WIFd asiY

30. 9 a F b g@RT e fRar e g,
dl ~gAdH THd R JhaH Heg AW
AR T gram?

A. a-b

B. b-a

C. b-1

D. a-1
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HHHANSWERSH##

1. Ans. B.

* HRA TS TSAET IS0, d5&
qRaga 3R ToART FareT F el v Age
Toidl & ¥ H S Rl gl

* gg uifdeeor 1988 & Tanfaa foram amm om)
* Ig HRAT IS ISTATET grfereor, 1988
& 3CHINUT & HATEIHA § T foham arar |
2. Ans. A.

+ Fo[dl FRAFgeT [aSIIR FHST & Fefdl
TSIaY & TEATH |

* HeJdT ST o 1486-1505 deh MET fha,
S IR SRl A A9 BT AT 27|

+ 1452 &, 35¢ Hicohlo IF & AT
F ST T¢Iy & HgT Hsolaw & 3wy &
IS AT

x 1498 # 3% AR F SRIA IR
IMAT Flellche H 3T

3. Ans. B.

FRET AR S 7 PvaT & @Ol aT W
SR Ry Fr TUgEr F

* 3ogiel 1336 # fASTTeoR ATHATST &l TATTAT
|

* 1336 § & gREX YUH Hore TG FT A TH
T

*+ 38 Y 3N AGS W ool Y fordm 3R
T 1 faear

* fasrgeeR emaeRt dr Afex faATor sifafafer o
T A5 der F1 AT R, R fIeweeR
Aol gl ST &

4. Ans. C.

+ Rrees dets #fex affeErg & Rgaw #
Rua & e dier g &1 T o)

x Ig $9TaTT g & @Al gl

* 38 RIGIA Feusr AfeT & 717 4 8 Jrer
ST §1 T8 ST oRd # FEH R T g0
AT aREt & @ e B

5. Ans. D.

+ HAY (U T Tk ol ofcd ¢ 3N Ig
ifgcT ACH HFBGHT ¢aRT HAleIdT Ired 315
ATEAY 5Jcdl H @ TH g &

+ WIgcT Alceh 3ThIEHT aRT ATl Ied
3G T 8-

(5

* FINT ATCH HPIGHT hI FATTAT HRAT T8
AT & 31 AS 1952 &Y Fr o)

6. Ans. C.

el T AT 200 T9F & HIAT Al W Hd
gl

+ Ig AT, FET YU & I U B

+ I8 oY & o aRsodd Risat @Ry 3R
HET ARRAAT & 3aAN 9 ST I=T &

x SHPT W 1851 F TolFoisy HiTH o
T

+ €T & 6 AT T F 9 gar § 3R
sl v & Rffea REt 3R Swa & @y
IEIEGRER KRR

7. Ans. C.

+ feeamsT a1 AR Toue # Rua § s
St AT w1 AT @A g g@RT FRamr
AT AT 3R ATl GaRT f3ese AT I
|

a) faeer aagr

b) of=AT THEr

c) e &)

d) greq =rer

e) AgER TamHAr AfeX
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8. Ans. D.

I FF AT AT g8 T0F & T Al |
Aiod faar amm g

+ o FF AT 13 df eraredy & aIrr 2w
g1 AR Tg 3fsem & g A U g

* 3 Hfaiar fhedR F samar ar § 3R
3Q ¥ Aol & A @ Y S ST g

+ {igalTy &R & 30 #AGT & I 7 sgr o
f& "Fgl YcUT &I HINT HJST HT HIWT H IR
L g1

9. Ans. A

* odifess HAEMEPR 329 &1 §&@ @RI
FETETR &

* TFAIRY AT FT Ugell 3YRIOT AT S IARET
¥ HAET HGNIR SIdoTdT &l eI hisl &
IGLAESIEGRER IR

* s dard & & raa AgEeRT dqurar
35 oA wfa fhreene gl

* WM AT & gET FEH WRT AR g
10. Ans. C.

“With open arms” means with great

affection or enthusiasm. Option C “warmly”
is closest to this meaning. That is why C
is the right answer.

11. Ans. A

“Get the green light” means “to receive
permission to proceed with some action or
task” which is similar to “got permission to
go ahead with something”. Hence option A
is correct.

12. Ans. C.

‘Behaviour’ is a singular noun, hence, the
verb must also be singular to maintain
subject-verb agreement. Therefore, ‘are’
must be replaced with ‘is’ to form a
grammatically correct sentence.

Hence, option C is the correct answer.

13. Ans. D.

The meanings of the words are:

ol
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Inundation: flooding.

Flood: an overflow of a large amount of
water beyond its normal limits, especially
over what is normally dry land.

Torrent: a strong and fast-moving stream of
water or other liquid.

Tide: the alternate rising and falling of the
sea, usually twice in each lunar day at a
particular place, due to the attraction of the
moon and sun.

Drought: a prolonged period of abnormally
low rainfall, leading to a shortage of water.
Hence, option D is the correct answer.

14. Ans. A.

Subjective and objective pronouns are
simply pronouns that occur in either the
subject or the object of the sentence.
Subjective pronouns tell us who or what the
sentence is about. Objective pronouns
receive the action in the sentence. Here the
underlined part is the subject of the second
clause so subjective pronoun “I” should be
used in place of “me”. Option A fulfills all
the conditions so it is the correct option.
15. Ans. C.

“To recommend” means to put forward
(someone or something) with approval as
being suitable for a particular purpose or
role. This is suitable for this sentence. The
other options are irrelevant here. That is
why C is the correct choice.

16. Ans. B.

Sentence Q states the subject of this
paragraph i.e. benefits of horse riding found
by a new study. The other sentences
further discuss about how the body
movements on the horseback are
advantageous for the riders. Therefore B is
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the right answer as it puts sentence Q in
the beginning of the sequence.

17. Ans. D.

The given sentence is in indirect form of
narration. It has to be converted from
indirect to direct form. The given sentence
has two parts.

The first part is in interrogative form. It is
a kind of yes/no questions. Here ‘asked’
will be changed to ‘said to’ in the direct
narration. In yes/no questions the reporting
part and the reported parts are joined with
conjunction ‘if/whether’. The conjunction will
be removed. The pronoun of the reported
speech ‘he’ is changed to ‘I'. The reported
verb will be made interrogative i.e. it is kept
in the order of verb + subject form. Also,
the modal verb ‘could’” will be changed to
‘can’. Question mark(?) will be placed at
the end of the interrogative sentence.

The second part i.e. the reply part of the
question is in assertive form. In such
question if the reply is ‘answered in the
affirmative’ then it will be converted to ‘yes’
and if the reply is ‘answered in the
negative’ then it will be replaced with ‘no’.
So the correct answer is option D.

18. Ans. D.

Harmonious means symmetrical.
Inconspicuous means visible or apparent.
Unpretentious means honest.

Contiguous means touching along the side
or boundary.
Hence, option D is the correct answer.

19. Ans. C.

Let’s first learn the meanings of the words:
Piquant = savoury or tasty. Therefore, bland
is the correct antonym for it.

Pungent = strong.

o
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Hence, option C is the correct answer.
20. Ans. D.

Sum of observations
TOtal number of observations

Average =

23 = (Sum of observations) / 9
Sum of observations = 23 x 9 = 207
If 2 is added to all the 9 numbers

Average = [ 207 +2x (9 1/9
Average = 225/ 9 = 25
Short Trick:

If the average of n numbers is “@” and if
“x” is added or subtracted from each given
number, then average becomes (m + Xx)
and (m - x) respectively.

So, the new average = 23 + 2 =25.

21. Ans. A.

Boy —  Boy's Brother(+) i Kamal(-)

From the above figure, its clear that Kamal
is the sister-in-law of that boy.

Hence, the correct answer is option A.

22. Ans. C.

+
D= G

ct

The gender of G is not given. {Option (a)
and (d) is false}.

C is the nephew of G. (option b is false)
And D is brother of G and father of C.
(Given)

Option (c) is correct.

23. Ans. B.

Verb forms of Swim in English grammar-
V1- Swim

V2- Swam

V3- Swum

V4- Swimming

V5- Swims

Hence, missing term is Swum.
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24. Ans. D.

25. Ans. C.
We can clearly see that the letters are
arranges in alphabetical order but in
reverse fashion.

So ABCD is written as DCBA and this is
first from the starting so relating it they
have taken first from the ending itself.
Now IJKL is 3™ pair from the starting. So
look out for 3™ pair from ending. That is
OPQR. Now reverse it. RQPO
Hence C

26. Ans. B.

Let's first define the measures
11.11% = 1/9

& 9.09% = 1/11

In first month Mr. Mehta saves

1/9 of
16200

expenses (i.e. 1/10 of income)

1

W —_

10 = Rs. 1620
In second & third month Mr. Mehta saves
= 1/11 of expenses (i.e. 1/12 of income) =

1

e T
16200 12 = Rs. 1350 each

In the fourth month his salary increases by
1/9. So his new salary = 16200 + (16200
1

w
9) = Rs. 18000

Since he spent all his income in the fourth
month, so his savings are NIL.

His savings in the fifth month = 18000 *
12.5% = Rs. 2250

His savings in the sixth month = 18000 *
10% = Rs. 1800

His savings in the seventh month = 18000
%20% = Rs. 3600

$
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His savings in the eighth month = 18000
*15% = Rs. 2700

His savings in the ninth month = 18000 *
15% = Rs. 2700
His savings in the tenth month = 18000 *

8.33% = Rs. 1500

His savings in the eleventh month = 18000
*20% = Rs. 3600

His savings in the twelfth month = 18000
*12.5% = Rs. 2250

Average of highest savings = (3600 +
3600)/2 = 3600

Average of lowest savings = (1350 + 0)/2
= 675

Now required ratio = 3600/675 = 5.33

27. Ans. A

To solve this problem with ease, let's the
number of fruits the fruit vender buys at a
time be 300 each (LCM of 12 and 100)
So for 300 Bananas

CP =85 % 3 =255

SP = 18 = 25 = 450

(5P -CP) . 100

Profit = CP =
% «100
255 = 76.47 %
For 300 Raspberries
CP =380 * 3 = 1140
SP =76 * 25 = 1900
(SP-CP) 100
Profit = CP =
780 400
1140 = 66.67 %
So for 300 Gooseberries
CP = 360 * 3 = 1080
SP =72 * 25 = 1800
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(SP — CP) <100
Profit = CP
720
== %100
1080 = 66.67 %

Hence Bananas yields him the maximum
percentage of profit.

28. Ans. B.

Let first number

Second number =y
So x + V= 75
SY=7=x .. (1)

Also, arithmetic mean of these two numbers
is 25% higher than their geometric mean.

AM = G. M.+ G.M.x —

=> 100
xX+y

JE}'-FL

L
IR NGRS
__ 5% /xy =150
B =30

=> xy = 900

Using equation (1):

= x(75 - x) = 900

_ 75% —x* =900
—75x+900=0

$
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R —60x —15x+900=10

= x(x - 60) - 15(x - 60) = 0

= (x - 60)(x - 15)=0

=> x =60orx =15

If x = 60 theny =15

And if x = 15 then y = 60

29. Ans. B.

(i) we know that number ending with

2,3,7and 8 can never be perfect square.

So, 3,25,137 is not a perfect square.

(ii) 1,04,976 =
2X2IXKZIAKZIXKIKIKIXKIXKIXKIXIXS
As there are exact pairs (each pair consists

of same prime factor) of each prime factor.

So, it is also a perfect square.

(iii) 2,93,729 =
is not a perfect square.

It is a prime number, so it

So, option B is correct.
30. Ans. C.
When a is divided by b

Minimum possible remainder = 0 (when a
is exactly divided by b)
Maximum possible remainder = b-1

So Difference of the minimum possible and

maximum possible remainder =

(b—1)—0=b-1
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